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Ex.34 A child applies a force F parallel to the x-axis to 2

1O - kq sled ....

a) Worlt done on the sled bl the focce F OM-»svn)

= ar @m)(wN) Yo.0 I

C—=sm

b.) Weo 1o = area = - (q@(non) =20,0 T

= oy

C-) Wo..,—-'!.?m = Yota| zrez =40.0T +20.07 = 60.0T

QRuestion not asked - 1§ the sled sharts from ref}} and the

surface of the ice is fricYenless, whar is the speed of the

cled affer 12.0 meters.
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Ex.52 When 1t+s ?S-kW(!oo hf) engine is 3ener;dw'vx1- Cull pow e,

a small smef‘c enqme aurplane with mass FOO kf

Ay = 2.5 m Sl L‘FT
At 3 D""jé—' — = ) — Thrust
(V4 v
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ZFy =0 becaause Vy =constzgnt
L~ mj =0 L= th WL = work done qu \a‘g‘l‘(ﬂ)e enging
%&e\ = WL = F-Ay = Ligr /Av\ m v\‘ Fo0), 4( 2.9
i — — K—-l—) | 5: G
At At AF A o)
?ou)er\ = |RI5 kW
ARy
Frachon = Power Ler. = VRS kw' = 0,23 or 23%
Poa)@“>enq‘uhe 75 kW
| — ‘ A ———
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Ex.5Y4 An elevalor has mass 4001{‘ ,_not inc)quj passengers.
Ay - 20m = 1.25 m B = HO hp/?*low\ 29,840\

mF=ma5s O'F anr z.vera_je Féssenger =(95.013;

# of passengers =7

Pma+or ey (M+ nmbq AAL (M +nm?\) = Pma}pr

. At o 3<AY/A-L->
Yo d8H0__—
n= 9 AY/AT - M = h2 ‘?-95 600 = 28,72 _passenqecs
650
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n = 28 passengers (max‘«mu«)\ ]
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